In this question, vou are asked to comment on a student's incorrect
attempt at answering the following question.
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In triangle ABC, the length of side B i 25 cm. I is a point on AC with
LBAD =40° ABDC = 00°and LDCEB = 48°

(i) Use the sine rule to find the length of AE.
(ii} Find the length of AD,

Give angwers correct to two significant figures.



The student’s incorrect attempt iz shown below,

i) Lising the cing nele in tinmgle ABC
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{a) Write out your own solution to the question, explaining your working,

(B} There are three places in the student’s attem pt where a mistake has
been rnade. IHerify these mistakes and explain, as if directly to the
stadent, why, for each migake, their working iz incorrect.



